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Test-1

Reading Passage # 01

@ I AT AT Exam-approach-«
e [ELTS 11 3207 [CAT TG
e P1es =07 (Tl AR !
ATICTCSS I ACEN:

Crop-growing skyscrapers

st Step]|

@& (Crop-growing skyscrapers = *Pj-SeAMARET SIFHHAT TSI te2 JA-T,
G 3G fAfeR-q 1y TAWMCAR (FICT T« GT#I1F T passage-a TG =CT |

[l 2nd Step ]|

passage =1 #ItG page S HCeT (=TI 2Ty |
TR ISR AT I S0 1T Indoor farming 93 4C6 *77g |
“te @<= @ NO MORE THAN TWO WORDS e
Question 1 to 7 et Complete TS =0J |

I3rd Step]|

passage-4 (FS @ Indoor farming = 76T
2RI para-3 e foT-5R # R L& | (IR 7T | GRS FIE R G0 |
T second-@R AR para-CS (= |
WFCOR (SIF:
The concept of indoor farming is not new ...
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H4th Step |

[TH] (TS (FC N VLOT &% T W A=

1. Some food plants, including , are already grown indoors.

2. Vertical farms\ would be located in , meaning ) that there would be less
need to take them\long distances to customers.

A5th Step |

passage-<€\ indoor farming-43 para-(S [(FIS BT (7 |

2 76T T e A=
The concept of indoor\ farming is not new, since | hothouse production of

tomatoes and other produce has been in vogue for some time.

O WA, indoor farming -3 GRAGT 1 IFTARGT T 77 |
o, OB (@ TP 91, @ WA A1 PraEb[ ATF 461 O (A3 2= @, g 7 4@
BOIBT Gk W1 produce (= T=oifwe *#77)-a9 hothouse production 2T |
O W, 1-93 ©8F tomatoes |

Hoth Step |

Question # 2 SRR 39 M «1ef T

Vertical farms would be located in , meaning that there would be
less need to take them long distances to customers.

passage-9 (F® AT indoor farming-<3 para-o ¥ (AT F© (51Y I
vertical farming *F51 (YIS W I | do [/ 5 TR (F:

One such proposal is for the 'Vertical Farm'.

@ #11Re One such proposal (= @3¥ GF5T ABR) IS
ST YLOT AZAGNS T AT Awe:
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| Kukici |

What is new is the urgent need to scale up this technology to
accommodate another three billion people. Many believe an entirely new
approach to indoor farming is required, employing cutting-edge
technologies.

cutting-edge =% T SefIYfF O AN latest |
ST T, AWy BAS ISR AF6! &S =@ Vertical Farm |

IsthStep ]

ST TR (T @ # 2-57 AR 2IGH:

located in , meaning that there would be less need to take them
long-distance.

ATCTE (TS @A 2nd-43 para-3 TOFF YT AR,
@18 @ (proposal is for the Vertical Farm) #& (2t
AGTS 2[GTS BIF #ET AL #NGT CoIT=I:

Situated| in the heart of urban centres, they would drastically reduce the

amount of transportation required to bring food to consumers.

©fF W, 2-99 ©&4 209 urban centers.
TG AHOT TR analysis O FIBI-(RYT T4 AT sentence-01 PR (RIS SCey:

Situated in the heart of urban centers = *=(F (Ft%3 heart-4 S7g®
they would drastically reduce the amount of transportation ...

Tt A3 they &S SR I So0 % T+ (A,
FRe they IS FACBR AT ACHT multi-storey buildings-¢F |
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O, G, they &L ‘G |
O situated ... to consumers S (AT *FE GTOICER heart-9 SRES,
T (SIS FICE food HFCS GRS reduce I GRUGA A |

«qr= Question # 2-47 QBT BT 3w fafvz |
o161 ez [IEL TS99 Question-maker-= |

Question # 2-(S NT=:

... less need to take them long distances to customers |

AR AT "them' IS FF JACHZ 081 FET (ST ISI6T AT T TR them IFCS
FRITR 'food'- | 778 Question # 2-97 A food *BT (F2;

e, =y G (AT #3172 @O 70 =03 long distances to customers |

92 JFS, them-93 I food *=6T 20C 21 |

P step#9]]
Question # 3 @R # 4 TTI T(<:
3. Vertical farms could use methane from plants and animals to produce .

4. The consumption of would be cut because agricultural vehicles
would be unnecessary.

Q7 SIRCH passage-9 (FHe @ LeTs 70

(3)-93 methane 9 (1)-93 agricultural vehicles I unnecessary |
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step# 10]]

2nd para-3 TLF %! R, (IR GROIF 27 (AF TS 1G] &P Fei:

Vertical farms would need to be efficient ... .

Astep# 11]]

ATCS 2GS 3rd SIS Anedr ¢ea: .. 10,000 years to learn how to grow
.. (O W, NErfon =Py TeAMCA EFoZ U ATRITS SO TS 1)

W A “Ita= A6TS el A% . Along the way, we despoiled ...

step# 12]]

AGTO ATCS 59< para-3 $FCS AN CAIC:

The supporters of vertical farming claim many potential advantages for
the system. (S® Wi, 4® para-c® vertical farm-43 advantage =G
TG JCA | A line-tal ¥ Tta “Iere AGre para-3 (19 /b #EC ANeA
(oVCET):

...... it would return energy to the grid via methane generation from
composting non-edible (X-SFcaT) parts of plants.

T[T STIR0T W ez 7T 1T AR,
Question # 3-43 &< (=T energy.

Vertical farms could use methane from plants and animals to produce
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step# 13]]

G AT AR ANSTT (I # 4-9F Taa:

It would also dramatically reduce fossil fuel use, by cutting out the
need for tractors, ploughs and shipping,

O W, # 4-43 answer ¢ fossil fuel.

4 The consumption of would be cut because agricultural vehicles

would be unnecessary.
| |

Let's return to the question again, and read attentively the next question:

5  The fact that vertical farms would need light is a disadvantage.

T AMCoR, # 5 =0T @30T disadvantage =TT |
# 4-99 TS7 (37 FACS AT passage-4 TOFP 0T AL,
GO 1 (A “IT] ¥F FIETW |

A major drawback of vertical farming, however, is that the plants would
require artificial light.

QTR # 5-97 T&R 2GR T artificial.
I step#15]]

Question # 6-57 W7 fa “IG=i:

6 One form of vertical farming involves planting in which are
not fixed.

O W, @i« fF 96T @@t are not fixed.
passage-9 (TS 0T ATCS 2GS last-4< A para-CS “MSAT (T

One variation on vertical farming that has been developed is to grow
plants in stacked trays that move on rails.

IR # 6-97 A stacked trays.

Cambridge-11 # 02




S@ifur's FEw IELTS e

Astep# 16]]

G # 7 el A

The most probable development 1s that food will be grown on
in towns and cities.

passage-9 (FIS ST AF | \ATCS TS |ast ICH ANGT (AT

While it is possible that much) of our food will be grown| in skyscrapers
in future, most experts currently| believe it 1s far more likely that we will
simply use the space available on urban rooftops.

ORI WA, # 7-93 TSR rooftops.

Astep# 17]

a3 8 — 13-4« =irew ¢oitst, TRUE / FALSE.
7% &% f@0 Question # 1 — 7 AN F1K I
vertical farming T <=1 S g 102 (el |
©IR, # 8 (A 13-4 vertical farming *= & tar 10, 12 @R 13-9 %=1 |

SR 2R «2 foq51R T Wiw 21wl T<:
10 The crops produced in vertical farms will depend on the season.
12 Fertilisers will be needed for certain crops in vertical farms.

13 Vertical farming will make plants less likely to be affected by infectious
diseases.

TR foxbT I95R vertical farming-93 advantage e |
©I%, passage-9 (&S FI e page-93 second para-CS 5T (FFT
@B = vertical farming-93 potential advantage 3 |

10
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second sentence-(2 (?FIN :

For instance, crops would be produced all year round, as they would be
kept in artificially controlled, optimum growing conditions.

O W, # 10-93 answer 21 FALSE
AR, # 12-97 TGF (I FAR T QAR ATTS TS GFp (058 (oA

All the food could be grown organically, eliminating the need for
herbicides, pesticides and fertilisers.

ORI, # 12-a9 answer & FALSE
G, # 13-99 TS (T AR G ACESE G

The system would greatly reduce the incidence of many infectious
diseases that (= @) are acquired at the agricultural interface.

O WA, # 13-93 ©e7 =3 TRUE
| |
GJR, AT et I e Agm:
08 Methods for predicting the Earth's population have recently changed.

09 Human beings are responsible for some of the destruction to food-producing
land.

11 Some damage to food crops is caused by climate change.

Question # 8 == Earth's population ez |
passage-99 &Freg {2 population |

11



(12 FARNGTE 2ITT 2GS (T

By the year 2050, nearly 80% of the Earth's population will live in urban
centres. Applying the most conservative estimates to current demographic
trends, the human population will increase by about three billion people
by then.

Q@R12 TR, # 8-93 answer == NOT GIVEN
Q3R # 9-9F answer (I FA0S @ First para-cs (0 it 2w (aitet:
At present, throughout the world, over 80% of the land that is suitable for
raising crops is in use. Historically, some 15% of that has been laid waste
by poor management practices.
(QR1E AR # 9-«3 answer is TRUE
a7, # 11-99 IS I 2
climate change-93 J1C food crops-93 s qACT |
G JFTPRGT 2T (CTl faSI page-9a GFUN SFTOR:
... due to a rapidly changing climate, that is not what happens. Massive
floods, long droughts, hurricanes and severe monsoons take their toll

each year, destroying millions of tons of valuable crops.

o WA, 11-93 ea TRUE

12
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